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SMT.SUNITIDEVI SINGHANIA SCHOOL, THANE
TERM 1/Grade X/Physics Worksheet/2024-25

Refraction of Light at Plane Surfaces
A. Choose the correct option from the options given below:

1) White light is dispersed by a prism. Compared with blue light, the red light is:
A. slowed down less and refracted less.
B slowed down more and refracted more.
C. slowed down more and refracted less.
D. slowed down less and refracted more.
2) The angle of minimum deviation is equal to the angle of prism of an equilateral 9'35? »
prsm. The angle of incidence at which minimum deviation will be obtained is: e
A. 20° B. 30° C. 45° D. 60° «~ S
3) Aray of light is incident normally on a rectangular glass slab. Which quantities
as the light enters the glass slab? '
A. direction and wavelength.
B. frequency and speed.
C. direction and speed.
D. wavelength and speed
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4) Aray of ight enters a glass slab at an angle of incidence ' preducing an angle of :
: refraction ' in the glass. A graph of sini against sinr is plotted. Which of the graph is

correct?
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" 7) In total internal reflection, the value of critical angle will
through
A. water to air
&, B. diamond to air
C. glass to air
D. glass to water
8) Assertion. A light ray moving ends away

from the normal. -
Reason: The speed of light is more in a rarer medium than in the denser medium.

9) Assertion' The emergent ray in a glass slab is parallel to the direction of incident ray.
Reason: The extent of bending of light ray at the opposite parallel faces of the slab is
equal and opposite. . i v YLl W

0) ;ssemon. Critical angle remains a constant for a given pair of media. ")
eason. Critical angle is directly proportional to the absolute refractive index of_tI}te
medium : A BT "y P
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B. Answer the following questions:

L A‘V range medium 1 given the following cases in the increasing order of optical densities
if medium 2 and the angle of incidence remains the same in all 4 cases.{'c_e AD

. medium 1

medium 1 medium 1

medium 1
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medium 2

medium i' medium 2

medium 2 ‘
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2) Draw a labelled diagram to show the patfiof a monochromatic ray of light incident on an
equilateral prism kept at its angle quninimum deviation. :
3) List any two physical quantities Yemains unaffected during refractiogilil®
elow to show the path of the emergent ray. Given

4) Redraw and complete the diagrar
; critical angle for glass pris Fig\42° and PQC = 110°.
oy A

angle for glass-air interface is 45° for the light of yellow colour. State
equal to or more than 45° for
(b) Blue llqht G




10)Diagra
) M given below shows the multiple images that are produced when a laser light is
@) Nt on a thick glass plate.
Which of the image formed is the brightest.

§b) Justify your observation. | i
c) Although infinite images would be formed theoretically, why are they not
observed practically?

(a) Why are we able to see the reflection of the car on the road?

(b) Justify your observation. %
(c) Why does it disappear when the observer g&;choser to the vehicle?

12) A swimming pool appears tobe 1.8 m deqk;j the refractive index of water is 1.33, find

the actual depth of the pool.
13) A coin kept inside water [u=4/3] wh ed from air in a vertical direction appears to ¥

he coin in water.

e refractive index of a medium? -
iagrams to show the path of the ray of
monochromatic light in e se as it enters and emerges out of the prism. Mark the

angle wherever necew critical angle is 42°) L
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i 5 below shows the ray OP travelling through an equilateral prism of a certain
\" P, ;."vw' “ value of iz, If the angle of deviation is 43° (b) What is the ray




